Efficiency vs dr

0.1

.......

u5|na IOWP
—_— DQM X|M|nusfnewbranch owpt
D8M |_XiMinus_original_lowpt_pLess

M—XiMinus_newbranch_lowp pLess

'El ||| lﬂnﬂrlﬂn Rl

10‘3 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02
0.018F
E F
Q.OlG_—
9.014F
P o
9.012F
2

o -
£ 0.01
3] o
0.008|
0.006F
0.004
0.002

o
©
T

1073 1072 107
AR(TP, jet)

Efficiency vs pu

50.02
o
9.018
9.016
(]
©.014
=
®.012

T

0.01F

0.008
0.006
0.004
0.002

0
il

Ratio

L

T4 810 12 14 16 18 20

Pileup



	Contents
	Page 1


